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Froblem 1 (Medieval warfare): A cannon is sitting on a cliff of height hi. There is a castle sitting on a hill of height h2
which is laterally a distance d away from the cannon. What angle should the cannon be set at in order to make sure
that a cannonball hits the castle. Neglect air resistance.
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[, HRK5 6.£.032. (110583 After a totally inelastic collision, two ubjects of the same
mass and initial speed are found to move away together at @ew initial speed.
~ind the angle between the inifial velocities of the objects. /D
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